DANNENBAUM ENGINEERING COMPANY – AUSTIN, LLC 3409 EXECUTIVE CENTER DRIVE, SUITE 129, AUSTIN, TEXAS 78701 (512) 345-8505 OFFICE (512) 345-9634 FAX

May 11, 2018

Mr. Chad Wood, P.E. Public Works Department City of Pflugerville 15500 Sun Light Near Way, #B Pflugerville, Texas 78660

REFERENCE: Bid Opening and Recommendation of Contract Award

Mill Creek Rd/Bellemeade Blvd and Green St Meadows

Pavement Rehabilitation

DEC No. 5107-01

Dear Mr. Wood:

As requested, we have reviewed the bids received by the City of Pflugerville on May 10, 2018 at 3:00 p.m. for Contract 5107-01 for the Mill Creek Rd/Bellemeade Blvd and Green Meadow St Pavement Rehabilitation project. There were six (6) bids submitted. Please see the attached bid tabulation for complete breakdown of bids submitted. See summary of results below.

	Contractor	Base Bid
1.	Smith Contracting Co., Inc	\$545,038.00
2.	ProDirt Services, LLC	\$587,338.47
3.	Austin Underground, Inc.	\$673,463.00
4.	Patin Construction, LLC	\$809,594.00
5.	Smith Paving, Inc.	\$649,994.00
6.	AARON Concrete Contractors, LP	\$702,197.00
	Engineer's Opinion of Probable Cost	\$515,538.00

We checked the online inspection and/or citation information from OSHA for the lowest bidder, Smith Contracting Co., Inc. According to OSHA's records, in the last five years, Smith Contracting Co., Inc. had one inspection in November 2015, which resulted in three serious violations, including a fatality. The OSHA case has been closed.

The Contractor has provided and signed all the required CDBG/HUD documents.

We have also verified that the bid bond companies: Liberty Mutual Insurance Company, The Ohio Casualty Insurance Company and West American Insurance Company, are all licensed to do business in the State of Texas.

From the available information, Dannenbaum Engineering Company – Austin, LLC recommends that City of Pflugerville award the Mill Creek Rd/Bellemeade Blvd and Green Meadow St Pavement Rehabilitation project contract to Smith Contracting Co., Inc. in the amount of \$545,038.00. This amount is \$45,038.00 over the \$500,000 CDBG/HUD funding, which includes the addition of three solar power street lights for \$30,000.

If you should have any questions or concerns regarding this matter, please give me a call.

Sincerely,

Dannenbaum Engineering Company - Austin, LLC

Thomas C. Arndt, P.E. Project Manager

Momas Hu

Enclosures: OSHA Records

Bid Tabulation



OSHA English | Spanish
Find it in OSHA Q
A TO Z INDEX

ABOUT OSHA * WORKERS * EMPLOYERS * REGULATIONS * ENFORCEMENT * TOPICS * NEWS & PUBLICATIONS * DATA * TRAINING *

Inspection Detail

Case Status: CLOSED

Inspection: 1106492.015 - M. A. Smith Contracting Company, Inc.

Inspection Information - Office: Austin Nr: 1106492.015 Report ID: 0625400 Open Date: 11/18/2015 M. A. Smith Contracting Company, Inc. 12400 Gregg Manor Road Union Status: NonUnion Manor, TX 78653 SIC: NAICS: 238910/Site Preparation Contractors Mailing: 15308 Ginger Street, Austin, TX 78728 Inspection Type: Fat/Cat Advanced Notice: Scope: Partial Ν Ownership: Private 11/19/2015 Safety/Health: Close Conference: Safety Emphasis: L:Constr6, N:Trench Close Case: 10/24/2017 Related Activity: Type Safety Health

1039419

Case Status: CLOSED

	v	iolation	Summary	y		
	Serious	Willful	Repeat	Other	Unclass	Total
Initial Violations	3					3
Current Violations	2					2
Initial Penalty	\$14,400					\$14,400
Current Penalty	\$7,800					\$7,800
FTA Amount						

Accident

					Vie	olation Item	s				
	#	ID	Туре	Standard	Issuance	Abate	Curr\$	Init\$	Fta\$	Contest	LastEvent
	1.	01001	Serious	5A0001	03/28/2016	04/01/2016	\$4,900	\$6,300	\$0	04/20/2016	F - Formal Settlement
Deleted	2.	01002	Serious	19260251 A02 I	03/28/2016	04/01/2016	\$0	\$4,500	\$0	04/20/2016	F - Formal Settlement
	3.	01003	Serious	19260251 C12	03/28/2016	04/01/2016	\$2,900	\$3,600	\$0	04/20/2016	F - Formal Settlement

		Acci	dent Investigat	ion Summary	
Sumr	mary Nr: 81193.015	Event: 11/18/2015	Employee Is Str	ruck By Detached Excavator Bucket An	d Is Kille
	as leveling a section of reinforce			ntractor, was installing new drainage pached and struck him. Employee #1 su	oipes at a commercial building project. Istained blunt force trauma and was
	Keywords: pipe, crushing,	, installing, excavator, equipm	ent failure, falling	object, construction, concrete pipe, o	onstruction vehicle, struck by
	Inspection		Degree	Nature	Occupation
1	1106492.015		Fatality	Bruise/Contus/Abras	Construction laborers

UNITED STATES
DEPARTMENT OF LABOR

Occupational Safety and Health Administration 200 Constitution Ave., NW, Washington, DC 20210 & 800-321-6742 (OSHA) TTY www.OSHA.gov

White House Affordable Care Act Disaster Recovery Assistance USA.gov Frequently Asked Questions A - Z Index Freedom of Information Act Read the OSHA Newsletter

ABOUT THE SITE

Freedom of Information Act Privacy & Security Statement Disclaimers Important Web Site Notices



OSHA English | Spanish
Find it in OSHA Q
A TO Z INDEX

ABOUT OSHA * WORKERS * EMPLOYERS * REGULATIONS * ENFORCEMENT * TOPICS * NEWS & PUBLICATIONS * DATA * TRAINING *

Violation Detail

Standard Cited: 5A0001 OSH Act General Duty Paragraph

		Violatio	n Items		
		Violatio	ii Iteilis		
Nr: 1106492.015	Citation: 01001	Issuance: 03/28/	2016	ReportingID: 062	5400
Viol Type:	Serious	NrInstances:	1	Contest Date:	04/20/2016
Abatement Date:	04/01/2016 2	Nr Exposed:	4	Final Order:	03/06/2017
Initial Penalty:	\$6,300.00	REC:	Α	Emphasis:	
Current Penalty:	\$4,900.00	Gravity:	10	Haz Category:	

	Penalty	and Failure t	to Abate Ev	ent History		
Туре	Event	Date	Penalty	Abatement	Туре	FTA Insp
Penalty	Z: Issued	03/28/2016	\$6,300.00	04/01/2016	Serious	
Penalty	:	04/27/2016	\$6,300.00	04/01/2016	Serious	
Penalty	F: Formal Settlement	03/06/2017	\$4,900.00	04/01/2016	Serious	

Text For Citation: 01 Item/Group: 001 Hazard:

OSH ACT of 1970 Section (5)(a)(1): The employer did not furnish employment and a place of employment which were free from recognized hazards that were causing or likely to cause death or serious physical harm to employees from being struck by materials and equipment while installing a storm drainage system. On or about 18 November 2015, and at times prior thereto, four laborers were installing sections of a new storm drainage system while under a Volvo Excavator EC210CL bucket being used to move reinforced concrete pipe (RCP), exposing the employees to the hazard of being struck by materials and equipment.

UNITED STATES DEPARTMENT OF LABOR

Occupational Safety and Health Administration 200 Constitution Ave., NW, Washington, DC 20210 800-321-6742 (OSHA) TTY www.OSHA.gov

FEDERAL GOVERNMENT

White House Affordable Care Act Disaster Recovery Assistance USA.gov Plain Writing Act Recovery Act No Fear Act U.S. Office of Special Counsel

OCCUPATIONAL SAFETY AND HEALTH

Frequently Asked Questions A - Z Index Freedom of Information Act Read the OSHA Newsletter Subscribe to the OSHA Newsletter OSHA Publications Office of Inspector General

ABOUT THE SITE



OSHA English | Spanish
Find it in OSHA Q
A TO Z INDEX

ABOUT OSHA * WORKERS * EMPLOYERS * REGULATIONS * ENFORCEMENT * TOPICS * NEWS & PUBLICATIONS * DATA * TRAINING *

Inspection Detail

Quick Link Reference

1203224.015 | 1106492.015

Case Status: CLOSED

Inspection: 1203224.015 - M. A. Smith Contracting Company, Inc.

Inspection Information - Office: Austin Nr: 1203224.015 Report ID: 0625400 Open Date: 01/12/2017 M. A. Smith Contracting Company, Inc. 12206 Scribe Dr. Union Status: NonUnion Austin, TX 79159 NAICS: 238910/Site Preparation Contractors Mailing: 15308 Ginger Street, Austin, TX 78728 Inspection Type: Referral Partial Advanced Notice: Scope: Ownership: Private Safety/Health: Safety Close Conference: 01/12/2017 02/20/2018 Emphasis: N:Trench, L:Constr6 Close Case: Related Activity: Type ID Safety Health 1174064 Referral Yes

Case Status: CLOSED

	V	iolation	Summary	,		
	Serious	Willful	Repeat	Other	Unclass	Total
Initial Violations	1					1
Current Violations				1		1
Initial Penalty	\$8,963					\$8,963
Current Penalty				\$5,378		\$5,378
FTA Amount						

					Violation It	ems				
#	ID	Туре	Standard	Issuance	Abate	Curr\$	Init\$	Fta\$	Contest	LastEvent
1.	01001	Other	19260652 G01 II	03/28/2017	04/03/2017	\$5,378	\$8,963	\$0		I - Informal Settlement

Case Status: CLOSED

Inspection: 1106492.015 - M. A. Smith Contracting Company, Inc.

Inspection Information - Office: Austin Nr: 1106492.015 Report ID: 0625400 Open Date: 11/18/2015 M. A. Smith Contracting Company, Inc. 12400 Gregg Manor Road Union Status: NonUnion Manor, TX 78653 NAICS: 238910/Site Preparation Contractors Mailing: 15308 Ginger Street, Austin, TX 78728 Inspection Type: Fat/Cat Advanced Notice: Scope: Partial Ownership: Private 11/19/2015 Safety/Health: Safety Close Conference: Emphasis: L:Constr6, N:Trench Close Case: 10/24/2017 Related Activity: Type Safety Health Accident 1039419

Case Status: CLOSED

v	iolation	Summary	,		
Serious	Willful	Repeat	Other	Unclass	Total

Initial Violations	3			3
Current Violations	2			2
Initial Penalty	\$14,400			\$14,400
Current Penalty	\$7,800			\$7,800
FTA Amount				

					Vie	olation Item	s				
	#	ID	Туре	Standard	Issuance	Abate	Curr\$	Init\$	Fta\$	Contest	LastEvent
	1.	01001	Serious	5A0001	03/28/2016	04/01/2016	\$4,900	\$6,300	\$0	04/20/2016	F - Formal Settlement
Deleted	2.	01002	Serious	19260251 A02 I	03/28/2016	04/01/2016	\$0	\$4,500	\$0	04/20/2016	F - Formal Settlement
	3.	01003	Serious	19260251 C12	03/28/2016	04/01/2016	\$2,900	\$3,600	\$0	04/20/2016	F - Formal Settlement

			Accio	dent Investigat	ion Summary	
Sumr	mary Nr: 81193.015	Event: 11/18/	2015	Employee Is Str	ruck By Detached Excavator Bucket Ar	d Is Kille
At 11	:21 a.m. on November 18, 2015	, Employee #1	, employed by a	a construction cor	ntractor, was installing new drainage i	nines at a commercial building project.
He w	•	ed concrete pipe			ached and struck him. Employee #1 s	
			when an exca	vator bucket deta	, , , , , , , , , , , , , , , , , , , ,	ustained blunt force trauma and was
			when an exca	vator bucket deta	ached and struck him. Employee #1 si	ustained blunt force trauma and was

UNITED STATES DEPARTMENT OF LABOR

Occupational Safety and Health Administration 200 Constitution Ave., NW, Washington, DC 20210 & 800-321-6742 (OSHA) TTTY www.OSHA.gov

FEDERAL GOVERNMENT

White House Affordable Care Act Disaster Recovery Assistance USA.gov Plain Writing Act Recovery Act No Fear Act U.S. Office of Special Counsel

OCCUPATIONAL SAFETY AND HEALTH

Frequently Asked Questions A - Z Index Freedom of Information Act Read the OSHA Newsletter Subscribe to the OSHA Newsletter OSHA Publications Office of Inspector General

ABOUT THE SITE



OSHA English | Spanish

Find it in OSHA Q
A TO Z INDEX

ABOUT OSHA Y WORKERS Y EMPLOYERS Y REGULATIONS Y ENFORCEMENT Y TOPICS Y NEWS & PUBLICATIONS Y DATA Y TRAINING Y

Violation Detail

Standard Cited:19260251 A02 I Rigging equipment for material handling.

This violation item has been deleted.

Violation Items												
Nr: 1106492.015	2.015 Citation: 01002 Issuance: 03/28/2016 ReportingID: 0625400											
Viol Type: Abatement Date: Initial Penalty:	Serious 04/01/2016 \$4,500.00	NrInstances: Nr Exposed: REC:	1 4	Contest Date: Final Order: Emphasis:	04/20/2016 03/06/2017							
Current Penalty:		Gravity:	05	Haz Category:								

Penalty and Failure to Abate Event History												
Туре	Event	Date	Penalty	Abatement	Туре	FTA Insp						
Penalty	Z: Issued	03/28/2016	\$4,500.00	04/01/2016	Serious							
Penalty	:	04/27/2016	\$4,500.00	04/01/2016	Serious							
Penalty	F: Formal Settlement	03/06/2017	\$4,500.00	04/01/2016	Serious							

UNITED STATES DEPARTMENT OF LABOR

Occupational Safety and Health Administration 200 Constitution Ave., NW, Washington, DC 20210 800-321-6742 (OSHA) TTY www.OSHA.gov

FEDERAL GOVERNMENT

White House Affordable Care Act Disaster Recovery Assistance USA.gov Plain Writing Act Recovery Act No Fear Act U.S. Office of Special Counsel

OCCUPATIONAL SAFETY AND HEALTH

Frequently Asked Questions A - Z Index Freedom of Information Act Read the OSHA Newsletter Subscribe to the OSHA Newsletter OSHA Publications Office of Inspector General

ABOUT THE SITE



OSHA English | Spanish

Find it in OSHA Q
A TO Z INDEX

ABOUT OSHA * WORKERS * EMPLOYERS * REGULATIONS * ENFORCEMENT * TOPICS * NEWS & PUBLICATIONS * DATA * TRAINING *

Violation Detail

Standard Cited:19260251 C12 Rigging equipment for material handling.

Violation Items													
Nr: 1106492.015 Citation: 01003 Issuance: 03/28/2016 ReportingID: 0625400													
Viol Type: Abatement Date: Initial Penalty: Current Penalty:	\$3,600.00	NrInstances: Nr Exposed: REC: Gravity:	1 4 05	Contest Date: Final Order: Emphasis: Haz Category:	04/20/2016 03/06/2017								

Penalty and Failure to Abate Event History												
Туре	Event	Date	Penalty	Abatement	Туре	FTA Insp						
Penalty	Z: Issued	03/28/2016	\$3,600.00	04/01/2016	Serious							
Penalty	:	04/27/2016	\$3,600.00	04/01/2016	Serious							
Penalty	F: Formal Settlement	03/06/2017	\$2,900.00	04/01/2016	Serious							

UNITED STATES
DEPARTMENT OF LABOR

Occupational Safety and Health Administration 200 Constitution Ave., NW, Washington, DC 20210 & 800-321-6742 (OSHA) TTY www.OSHA.gov

FEDERAL GOVERNMENT

White House Affordable Care Act Disaster Recovery Assistance USA.gov Plain Writing Act Recovery Act No Fear Act U.S. Office of Special Counsel

OCCUPATIONAL SAFETY AND HEALTH

Frequently Asked Questions A - Z Index Freedom of Information Act Read the OSHA Newsletter Subscribe to the OSHA Newsletter OSHA Publications Office of Inspector General

ABOUT THE SITE

CITY OF PFLUGERVILLE

COMMUNITY BLOCK DEVELOPMENT GRANT

MILL CREEK RD/BELLEMEADE BLVD AND GREEN MEADOW ST. PAVEMENT REHABILITATION BID TABULATION

May 10, 2018

	ı	"			Cmith Cantr	aating Co. Inc.	DraDint C	ProDirt Services, LLC Austin Underground, Inc.		Patin Construction, LLC Smith Paving, Inc.			AARON Concrete Contractors, LP		Engineer's Opinion of Cost			
	Ham	Description of Work		D:4		acting Co., Inc.	Unit Unit Unit		+			ruction, LLC	,		,			
NI.	Item	Description of Work	11:4	Bid	Unit	Total		Total		Tatal	Unit	Tatal	Unit	Tatal	Unit	Total	Unit	Tatal
No.	No.	T-1-1M-1-7 - C D	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
1	TXDO1 500	Total Mobilzation Payment	LS	1	\$ 50,000.00	\$ 50,000.00	\$ 8,000.00	\$ 8,000.00	\$ 60,000.00	\$ 60,000.00	\$ 40,000.00	\$ 40,000.00	\$ 50,000.00	\$ 50,000.00	\$ 60,000.00 \$	60,000.00	\$ 15,000.00	\$ 15,000.00
2	G1	Traffic control, barricades, signage, Complete in Place	MO	6	\$ 2,000.00	\$ 12,000.00	\$ 3,500.00	\$ 21,000.00	\$ 2,500.00	\$ 15,000.00	\$ 2,000.00	\$ 12,000.00	\$ 800.00	\$ 4,800.00	\$ 2,000.00 \$	12,000.00	\$ 2,500.00	\$ 15,000.00
3	CIP15	Project Identification Signs	EA	2	\$ 800.00	\$ 1,600.00	\$ 750.00	\$ 1,500.00	\$ 600.00	\$ 1,200.00	\$ 1,300.00	\$ 2,600.00	\$ 700.00	\$ 1,400.00	\$ 700.00 \$	1,400.00	\$ 750.00	\$ 1,500.00
4	TxDOT 105	Remove Stablized Base and Asphalt	SY	4,660	\$ 3.00	\$ 13,980.00	\$ 5.00	\$ 23,300.00	\$ 5.50	\$ 25,630.00	\$ 53.00	\$ 246,980.00	\$ 8.00	\$ 37,280.00	\$ 7.00 \$	32,620.00	\$ 10.00	\$ 46,600.00
•		Pavement				. ,												,
5		Remove Storm Pipe	LF	241	\$ 7.00	\$ 1,687.00	\$ 40.00	\$ 9,640.00	\$ 30.00	\$ 7,230.00	\$ 35.00	\$ 8,435.00	\$ 15.00	\$ 3,615.00	H	13,255.00	\$ 13.00	\$ 3,133.00
6	TxDOT 496	Remove Wingwall	EA	1	\$ 1,000.00	\$ 1,000.00	\$ 500.00	\$ 500.00	\$ 700.00	\$ 700.00	\$ 2,500.00	\$ 2,500.00	\$ 2,000.00	\$ 2,000.00	\$ 3,000.00 \$	3,000.00	\$ 1,400.00	\$ 1,400.00
7	TxDOT 104	Remove Concrete Driveway	SY	81	\$ 23.00	\$ 1,863.00	\$ 15.00	\$ 1,215.00	\$ 30.00	\$ 2,430.00	\$ 20.00	\$ 1,620.00	\$ 60.00	\$ 4,860.00	\$ 40.00 \$	3,240.00	\$ 18.00	\$ 1,458.00
8	TxDOT 560	Remove and Relocate Mailbox	EA	17	\$ 400.00	\$ 6,800.00	\$ 250.00	\$ 4,250.00	\$ 400.00	\$ 6,800.00	\$ 250.00	\$ 4,250.00	\$ 500.00	\$ 8,500.00	\$ 175.00 \$	2,975.00	\$ 400.00	\$ 6,800.00
9	TxDOT 644	Remove and Relocate Signs	EA	5	\$ 400.00	\$ 2,000.00	\$ 250.00	\$ 1,250.00	\$ 330.00	\$ 1,650.00	\$ 300.00	\$ 1,500.00	\$ 250.00	\$ 1,250.00	\$ 300.00 \$	1,500.00	\$ 450.00	\$ 2,250.00
10	W3	Remove, Relocate and Reconnect Fire Hydrant	EA	1	\$ 3,000.00	\$ 3,000.00	\$ 15,000.00	\$ 15,000.00	\$ 1,500.00	\$ 1,500.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 3,000.00 \$	3,000.00	\$ 3,200.00	\$ 3,200.00
11	TxDOT 550	Remove and Replace Wood Fence (Dog Ear Style to Match Existing)	LF	10	\$ 100.00	\$ 1,000.00	\$ 100.00	\$ 1,000.00	\$ 33.00	\$ 330.00	\$ 100.00	\$ 1,000.00	\$ 50.00	\$ 500.00	\$ 55.00 \$	550.00	\$ 32.00	\$ 320.00
12	TxDOT 550	Remove and Replace Chain Link Fence with Gate	LF	105	\$ 18.00	\$ 1,890.00	\$ 65.00	\$ 6,825.00	\$ 20.00	\$ 2,100.00	\$ 40.00	\$ 4,200.00	\$ 75.00	\$ 7,875.00	\$ 30.00 \$	3,150.00	\$ 50.40	\$ 5,292.00
13	SD2	Excavation	CY	350	\$ 25.00	\$ 8,750.00	\$ 90.00	\$ 31,500.00	\$ 25.00	\$ 8,750.00	\$ 37.00	\$ 12,950.00	\$ 35.00	\$ 12,250.00	\$ 15.00 \$	5,250.00	\$ 20.00	\$ 7,000.00
14	SD3	Embankment	CY	500	\$ 20.00	\$ 10,000.00	\$ 90.00	\$ 45,000.00	\$ 15.00	\$ 7,500.00	\$ 37.00	\$ 18,500.00	\$ 40.00	\$ 20,000.00	H		\$ 7.50	\$ 3,750.00
15	SD4	Flex Base	CY	200	\$ 50.00	\$ 10,000.00	\$ 130.00	\$ 26,000.00	\$ 48.00	\$ 9,600.00	\$ 100.00	\$ 20,000.00	\$ 55.00	\$ 11,000.00	\$ 35.00 \$	7,000.00	\$ 75.00	\$ 15,000.00
16	SD1	Hot Mix Asphalt (HMA), 2-inch, Type C	SY	4,760	\$ 18.00	\$ 85,680.00	\$ 16.12	\$ 76,731.20	\$ 16.00	\$ 76,160.00	\$ 20.00	\$ 95,200.00	\$ 22.00	\$ 104,720.00	\$ 19.00 \$	90,440.00	\$ 10.50	\$ 49,980.00
17	C5	Concrete Driveway	SY	76	\$ 75.00	\$ 5,700.00	\$ 85.00	\$ 6,460.00	\$ 120.00	\$ 9,120.00	\$ 72.00	\$ 5,472.00	\$ 80.00	\$ 6,080.00	\$ 100.00 \$	7,600.00	\$ 75.00	\$ 5,700.00
18	TxDOT 275	Cement Treatment of Existing Material	SY	6,048	\$ 4.00	,	\$ 4.00	\$ 24,192.00	\$ 13.00	\$ 78,624.00	\$ 5.00	\$ 30,240.00		\$ 68,040.00		,	\$ 3.75	\$ 22,680.00
19	TxDOT 275		TON	74	\$ 160.00	\$ 11,840.00	\$ 150.00	\$ 11,100.00	\$ 200.00	\$ 14,800.00	\$ 180.00	\$ 13,320.00	\$ 235.00	\$ 17,390.00	\$ 170.00 \$	12,580.00	\$ 150.00	\$ 11,100.00
20	SD8	18-inch Wide Concrete Ribbon Curb	LF	2,904	\$ 12.00	\$ 34,848.00	\$ 12.50	\$ 36,300.00	\$ 17.00	\$ 49,368.00	\$ 15.00	\$ 43,560.00	\$ 18.00	\$ 52,272.00	\$ 18.00 \$	52,272.00	\$ 12.50	\$ 36,300.00
21	C4	24-inch Wide Concrete Catch Curb and Gutter	LF	463	\$ 14.00	, ,, ,	\$ 14.75	\$ 6,829.25	\$ 25.00	\$ 11,575.00	\$ 15.00	\$ 6,945.00		\$ 11,112.00	,	,	\$ 35.00	\$ 16,205.00
22		Driveway ACP	SY	229	\$ 42.00	\$ 9,618.00	\$ 16.38	\$ 3,751.02	\$ 70.00	\$ 16,030.00	\$ 39.00	\$ 8,931.00	\$ 40.00	\$ 9,160.00	1	10,305.00	\$ 40.00	\$ 9,160.00
23	CP11	Trench Excavation Safety 12-inch Reinforced Concrete (RC)	LF	840	\$ 1.00	\$ 840.00	\$ 3.00	\$ 2,520.00	\$ 1.50	\$ 1,260.00	\$ 2.00	\$ 1,680.00	\$ 8.50	\$ 7,140.00	\$ 1.50 \$	1,260.00	\$ 3.00	\$ 2,520.00
24	C8	Pipe (CL III) 24-inch Reinforced Concrete (RC)	LF	53	\$ 74.00	\$ 3,922.00	\$ 80.00	\$ 4,240.00	\$ 82.00	\$ 4,346.00	\$ 65.00	\$ 3,445.00		\$ 2,544.00	-	5,035.00	\$ 60.00	\$ 3,180.00
25	C8	Pipe (CL III) 30-inch Reinforced Concrete (RC)	LF	261	\$ 90.00	\$ 23,490.00	\$ 90.00	\$ 23,490.00	\$ 90.00	\$ 23,490.00	\$ 70.00	\$ 18,270.00	\$ 70.00	\$ 18,270.00	\$ 170.00 \$		\$ 80.00	\$ 20,880.00
26	C8 C8	Pipe (CL III) 36-inch Reinforced Concrete (RC)	LF LF	286	\$ 120.00 \$ 157.00	\$ 34,320.00 \$ 38,151.00	\$ 115.00 \$ 112.00	\$ 32,890.00 \$ 27,216.00	\$ 110.00 \$ 150.00	\$ 31,460.00 \$ 36,450.00	\$ 90.00 \$ 120.00	\$ 25,740.00 \$ 29,160.00	\$ 100.00 \$ 130.00	\$ 28,600.00 \$ 31,590.00	\$ 190.00 \$ \$ 220.00 \$		\$ 105.00 \$ 150.00	\$ 30,030.00 \$ 36,450.00
		Pipe (CL III)				. ,										,		, ,
28		Set TY I (12-inch)	EA	4	\$ 1,100.00	\$ 4,400.00	\$ 998.00	\$ 3,992.00	\$ 1,200.00	\$ 4,800.00	\$ 3,000.00	\$ 12,000.00	\$ 1,500.00	\$ 6,000.00	\$ 1,500.00 \$	6,000.00	\$ 1,500.00	\$ 6,000.00
29		Headwall (CH-FW-0) (Dia = 36in)	EA	1 1	\$ 6,000.00	\$ 6,000.00	\$ 7,500.00	\$ 7,500.00	\$ 1,900.00	\$ 1,900.00	\$ 3,500.00	\$ 3,500.00	\$ 8,500.00	\$ 8,500.00	\$ 8,000.00 \$	8,000.00	\$ 8,500.00	\$ 8,500.00
30		72-inch Diameter Manhole	EA	4	\$ 6,000.00		\$ 7,500.00		\$ 5,600.00				\$ 4,300.00				\$ 6,000.00	
		Inlet Type C with Grate Inlet Type S	EA EA	2	\$ 3,900.00 \$ 8,100.00		\$ 1,800.00 \$ 3,500.00		\$ 7,300.00 \$ 6,900.00	\$ 7,300.00 \$ 13,800.00	\$ 3,000.00 \$ 5,500.00	\$ 3,000.00 \$ 11,000.00	\$ 4,000.00 \$ 4,500.00	\$ 4,000.00 \$ 9,000.00			\$ 8,000.00 \$ 5,000.00	
		i 4'x4' Area Inlet (PADZ)(FG)	EA	2	\$ 8,100.00					\$ 13,800.00	\$ 5,500.00	\$ 11,000.00	\$ 4,500.00	\$ 9,000.00	-		\$ 4,300.00	
34		10' Concrete Curb Inlet	EA	1	\$ 6,700.00		\$ 4,000.00		\$ 9,200.00	\$ 9,200.00	\$ 8,500.00	\$ 13,000.00	\$ 5,000.00	\$ 7,000.00			\$ 6,500.00	
		12" - 18" Rock Riprap	SY	75	\$ 55.00				\$ 250.00		\$ 94.00		\$ 120.00	\$ 9,000.00	-		\$ 60.00	
36		5" Concrete Riprap	SY	43	\$ 75.00					\$ 5,160.00			\$ 72.00	\$ 3,096.00				
		Adjust Valves	EA	13	\$ 295.00						\$ 250.00		\$ 650.00	\$ 8,450.00				
38		Solar Lights, Complete in Place	EA	3	\$ 10,000.00		\$ 8,900.00		\$ 12,000.00	\$ 36,000.00	\$ 12,000.00	\$ 36,000.00	\$ 4,000.00	\$ 12,000.00			\$ 7,500.00	
39		Soil Retention Blanket	SY	700	\$ 2.00	\$ 1,400.00					\$ 3.00			\$ 4,900.00			\$ 1.50	
40	TxDOT 162	Mulch Sodding	SY	1,600	\$ 6.25	\$ 10,000.00			\$ 5.50		\$ 1.00		\$ 5.00	\$ 8,000.00	-		\$ 4.50	
41	UA-1	Utility Adjustment Allowance	LS	1	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00 \$	5,000.00	\$ 5,000.00	\$ 5,000.00
42	MB-1	Mailbox Allowance	LS	1	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00 \$	15,000.00	\$ 15,000.00	\$ 15,000.00
		SUB TOTAL				\$ 545,038.00		\$ 587,338.47		\$ 673,463.00		\$ 809,594.00		\$ 649,994.00	\$	702,197.00		\$ 515,538.00